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Answer the following Questions: PAGY) AW e o
1 - Answer one of the following (A) or (B): £(02) 91 (1) ot uadt i it -
Mention an example for it: + 3 Lla S5

(A) Giant reptiles ruled Earth during the | J>* oY1 Sl 2B3Mes a1y -]
Mesozoic Era and extinct at the end of | “! S22 dausidishad| cas
the Cretaceous Period. S ildall yuaall dilg 2

(B) Chemical elements with very high S Sl et e

. : NEESE (IR REP
density forming the Earth’s core. o e

2 - Write the scientific term: 1ole JIA elall pllacaal| S - Y
Plate tectonic motion forming transforming | gs-e Lasie pids 40 sisi S
vertical faults. usges AdLED

3 - Answer one of the following (A) or (B): | :cei@d (¢) 51 (1) o5l dsi s oY

What would happen if.... rdie Sty 13 Le
(A) Falling heavy rains accompanied with |34 thr Zouae slasl dogiu i
strong winds on limestone rock. Shpendl Hsiuall Sle

“ g,p'.'.\.ﬁ slod CJ)L‘J' P oyl -0

(B) Basaltic rocks subjected to water rich
90*:}«55“

in dissolved oxygen.
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4 - What is the importance of: Aacdalt ol palt Ased] iy - £
The natural grazing.

5 - Answer one of the following (A) or (B): | @3 (<) oi (1) (1t asi a5t -0
Justify the following: ; o
(A) The ratio of oxygen and carbon (COy) O30T S 08 B 5 -

.. . . Slodtobis 2 wals (O)) (umausNy
dioxide remains constant in the sea

~QU°-P'~6-”3
water. sl sl cix go SLAT Bl -
(B) The plant stem is positively
phototropic.
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6 - Choose the correct answer: 1 da38 Amouall Aala Wi il -1
From the characteristics of the desert | - Lyl b liedl yailas (e
increased area .....

@ Increased light intensity & oolaiily £ guall 5o 5ol @
reduction in relative humidity. e A gl 3

@ Low temperature & Byl pomdl A 53 ol @
reduction in relative humidity. e A gl 43| (alasly

@ Decrease of light & Wgls 11 gL ylg = gual| AL @
increase 1n relative humidity. PRL]

@ Increased light intensity & gLai )l & guall 5 Bl @
increase in relative humidity. i A gl 3

7 - From description of this rock: 1 39S el Camgh IS (pa -V
identify it and then mention one use of it: | Llaxiu! ;8315 Gaouall e cajya
a. It is a muddy rock rich in hydrocarbons, iy

mostly of plant origin and it is a waxy | %soSsaellalsell b ke sus -
solid state. Ao Bpaed Wl B ua g

b. Metamorphic rock resulted from exposure | €727 72! Jsmioe et s o

of limestone to high temperature. Bl 3510k

4] YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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8 - Compare between:

O 3 19531 g S ISI (o (9LB A
Aladi¥i g (LSt ol S Coos

Calcite quartz

chemical | 0
composition

0T g 01 |

T L ————————————Y [F

L B

9 - Study the given figure and answer the ‘ (e e 0 T L IS (aps) -4
following: :

s 4G Al

a- What are the geological processes that | ot stsenticloteatiLe -5

take place at numbers (1) & (2)?

$(1) (1) (30 S o s

b- Why the structure number (3) is formed? ‘

(V) iy ISt 0983 aled Lol
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10 - Answer one of the following (A) or (B): | @2 (&) o1 (1) ottt gadt i 3t -\ »
What would happen when if ........ s Ol 13Le
(A) Volcanic eruptions under sea or ocean | #be!! ghew S 218 5 Slyg3 &g -

water. S0ty jlodl B
(B) The magma is intruded concordant | *a! sshall o8 Lerlell 203 -
(parallel) with the bedding planes. Folialighaud Rilse 005 tam ler

11 - Choose the correct answer: 1 dadd dovouall Aol Wi sl -\ )
The light intensity in the seas depends on | ol sld! 2 sslaiu¥! sus a8 g
all of the following except ........... | e e Le b Les Js

amount of light that penetrate sea water . ,»1sle g3 2801 ¢ gual| deS

amount of light that reflected from sea  plaw (ro puSaiedt s guati aces

®
surface. ol @
@
O,

The wavelength of light. 5 guall hx g0 Jolo

®0 @ 6

The water temperature. sLad1 3y p A 5
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12 - Give reason for: ik et Jle -\ Y
Gulfs are formed in some shores and G (-8 A o I Gl L 115,58
rarely in others. NESEAPANPY- ok JVERCPPASPY-A]

13 - What would happen if: 1 ole A ylal) K Lo -\ Y
Slow cooling and crystallization of magma | ¢si=i ¢! Lealell s ladl wy !
containing less than 45% of silica content. S8 (e JAI ISl e

14 - Write the scientific term: role JIAT alal! pellasaed) ST -\ €
Plane which divides the crystal into two | i 115,501 @uis @1 ¢ giuel!
1dentical halves. Lalad (pugaliie
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15 - What is meant by: 13 Agualiall Lo -1 0
Hydration process. B!

16 - Answer one of the following (A) or (B): | *& (&) 51 (1) fud st a2 -\
Compare between: 1 (LB
(A) Formation of volcanic island arcs & |&95 #5221 u“ﬁf (2955 -

formation of the Red sea (concerning: o1 ol
tectonic motion) (RASSIAG AT o (0)
. . Ol golly ado¥) 2015150 Ol gadl -0
(B) Primary seismic waves & secondary e i
.. PURTIPRIE
seismic waves.

B YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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17 - Study the given figure and answer the 1 J3LEal| JSEIY (uydl -\

following: 1Y e
e A
(~) X Ermemasme sy X (~r)

(~) Z 4L (~)

surfaces what are their types? Slegin US £93 Lo 38153 puc

b- If (C) is a sandstone which in contact | ¢t 2> (C) aadatt cals 1) :Lals

with the igneous body (D). (D) Gl et ua S
Interpret the produced metamorphic | &' Jsmiell Sualips gidia!
rock.
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18 - «Trees have several benefits to the forests | ac (e JSI @ga 393 sl DF) -V A
& agricultural environment » -cAye 31 Aedt g DLl
[lustrate the importance of trees. ¥ Tpenl i g I3 £ 45 B

i YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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19 - Answer one of the following (A) or (B): | :@3 (@) of (1) ot 13udt asi st =14

Write the scientific term:  olalf mllaaal! LS|
(A) The sediments that take the form of | LSse 853 cauad Ui e cealy; (1)
a half circle position, its center the Rkl Syl

dhad g @) B s Sloees ()
&S Jlabially G il (re O5s))
61 b AL slge His e

outlet of the canyon (khowr).

(B) small grained size and light weight of
mud (silt and clay) move as suspended
materials or grains in rivers.

20 - Choose the correct answer: 10038 douall dala W1 yis - Y
A mineral has specific gravity of 19.3 | 1 eiiu 10,r e gt asyy oanse
relatedto ............... group. | e i game
@ Silicates. LSt @
(® Sulphates. s (Q
(© Oxides. ettt )
@ Native elements minerals. B3 yiiall yusliall @

21 - What would happen if....... s e Gidomy 13Le =Y

Presence of iron oxide impurities in ST (s Sl e 35519831 elgtia
quartz. LNVNeN |
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22 - Mention one similarity and one
difference between:
Producers and decomposers.

=Ty Al ‘:t_‘h‘j %j}ﬁlﬂ =YY
1 (i RIS
Aot OLGIST g o 1al) domiiad | OLGISTY

Producers Decomposers
£ 1iall dcloed | SLAIST Al ot SLAIST Y
Similarity | [
7
DIETEI@NICE |
AMEENI [ |
23 - Mention the importance of studying 1S3 =YY

body waves of earthquakes.

Y A 1) Ol gatf Ay Ao
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24 - Give reason for:

1k Let Je - V¢

Coal is usually formed in the swamp land | claacuwediglolis ;2 5sle poall oo

behind river deltas.

Ll@¥Yiolts s

25 - Answer one of the following (A) or (B):

Compare:

(A) Grazing in weed areas & grazing in

the area of shrubs and trees.

(B) Organic fertilizers & chemical fertilizers

(concerning: its effects on soil)

12 (@) 9t (1) O iaud) dn i it - YO
100 IS G (12
o2 ety olie ¥ Gllin 8 e 1 -
Ol ity lma ¥ Glolie
AL S Baw N g A gaali Ban ¥ —0
(A e Al o (4e)
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26 - Mention the geological (Period / Era) | o> stsad! saalt gi codbontt 4831 Y1
which characterized by: | eeeeee. = i (ST
a- Accumulation of rock salt layers. § il el Olils @815 -
b- Pangaea started to split into pieces. (lrily) kst o Jluads) By -0

27 - «Sunlight has an effect on the daily sl =YV
migration of marine animals». 5yngdl (Ao (ugate ili s guall
Discuss this statement. ALed) Sl gl e gt

14 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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28 - Answer one of the following (A) or (B):

Write the scientific term:

(A) Fracture that resulted by compression
where the hanging wall is moving
upward with respect to those that
occupying the footwall.

(B) Fractures present in different types
of rocks; igneous, sedimentary and
metamorphic without any evidence of
movement.

1@ (@) 91 (1) o3t A y25 - YA

1 el llaaelt CCS|

dazaatt (e Ly gt ,eust 50 (1)
Golall dallondl Haimo I, didy
dailntt jgimial Al el 1
.E’.L&.u.”

S9Scall (B B lgtin HguS ()
a3l Do (ST 9 dalisued!

29 - Answer one of the following (A) or (B):
Choose the correct answer:
(A) When hammering the quartz it has...

(@) Cleavage in one direction.
(b) Cubic cleavage.

(©) Jagged fracture.

(@ Concoidal fracture.

(B) Mineral characterized by dull luster is.....

(@) Pyrite

@ Kaolinite

(c) Sphalerite
(@ Malachite.

1 (@) of (1) ot o) i pisnt =¥ 4
=) = >
 dovowall sl

...... 413 55,1981 e G ylatl e (1)
g S gun B madn @
iasa J5s 3 i (D)

“Golons ey puuSl @

@18 G sueen I Duasdl ()

cartt (D)
g ()
et )
conn O
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30 - Answer one of the following (A) or (B):
Explain the following:
(A) Presence of cross bedding in
sedimentary rocks.
(B) The atmospheric pressure decreased
to quarter its value at 11 km high.

1 (@) 9l (1) ot uadt s § pn -¥ 0
2)‘&3
ss3ual! e adoliial| Gudaitl 39 o (1)
A g I
Liad poy S S92t dariall Juas ()
.pS\\ﬁL&SJ‘..\J.c

31 - What would happen if......
Presence of red algae at 50 m depth.

s Loie Gty 13k =¥

)i 0+ Gac e £l pammd | cdlntall i g3
Seladl o

32 - Mention the importance of Earth
warms to agricultural soil.

W 5 GI0s Acedi HSH) Y'Y
cae i

H
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33 - Compare between:
Fresh water lakes and saline lakes
concerning to mode of formation.

1O (ld =YY
Aol Ol e dly Walall Oy d
(sLaitt e ()

Fresh water lakes

LM‘Q‘W‘

saline lakes
PPN (A PP {

Mode of

formation
slactt cus (yo
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34 - Study the given figure which represents | ! Jiay clolel ity Jsit -v'¢
one of the tectonic motion and answer + A0S OIS ot
the following:

continental
plate

oceanic plate
a- Mention the type of tectonic Movement | 5:s»el1a il is sl g S50 : ¥
in the figure. LJsatl b

b- Justify the oceanic plate sinks bellows
the continental plate in mantle layer.

lamal| 7ol Gulund! Cow pud 1315
Zlast aids b (5HLal 7 el Jaud

c- Mention an example. Syt (o £330 1 agd Wl LS50 <13

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s
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35 - Explain the reasons of variation of S 55 A p3 LT bl g -TO
salt concentration in sea water, RIEN (PIWPR ¥ WKW (PSP} {
give examples. el L85 as

36 - Mention the main elements of O—uidT Al yoliall 2 S3f =¥
classification of the crystal systems. S sl Aetas¥ i g 3Ll
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37 - Answer one of the following (A) or (B): | :@2 (<) 91 (1) s 13l asi y250 -V

Write the scientific term: 1ole 1AM alall mllaael| LIS
(A) The removal of the upper layer of the | 23! claw (e Llalt 2adatt 4115, -
soil to use it in brick manufacturing. roglalldolis 8 Lgalusiu

(B) Decomposition of shaded leaves which | & &5 %! ¢34 dasiae Sale ~o
nourishes the soil and keeps its fertility. Lot ¥ 3log! dadlus

38 - Choose the correct answer: 1 Jad8 Asviouall Aala ¥l yisl YA
Marriott lake formed due to........... | A o g3 e By S0 S5
@ Degradation effect of lakes. Oyl aigll ol @
@ Degradation effect of seas. ] ougll Jaall @
@ Sedimentation effect of lakes. O pmild s i Joa @
@ Sedimentation effect of seas. R P BRI [ PS | @

39 - Give reason for: ik Lt Jle -¥4
Presence of coral reef fossils closer to | w3 awls ro wlac ,idlaisgay
polar regions today. Al st Gloliad)
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40 - What are the results of:

Gradual flow of the magma in the upper
mantle layers from the deposition areas to

the disintegration areas.

r oo A el gL Lo - 8 ¢
O glagh glas el 8lguatt Oy
dakie ¢18 I cow ) dakaie Jau

Ceaand!

41 - What is the name of the mineral:

a- A green colour mineral its chemical
composition is hydrous copper carbonates.
b- Mineral is yellowish, transparent which

turns brownish colour when small
amounts of iron replace zinc 1n its
atomic structure.

3ylaalt Lo JIA Hunedt @l Lo - £\
VAGY
(leaSI AeS S5 juas d3gh Huse
caile bl Gilh g S
O I iy Blas a0l Huae -0
a1 O3 aas S| e !
S Dy S5 S
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42 - Study the given figure and answer the | Sl slol i1 JSaI uysl -¢ Y

following: VAGY! A e e
a- What is the type of structure (C)? why? $13Laly (C) oS 501 55 Lo ¥
b- Mention the type of geological structure (A). (A) S350 5831 :Lals
c- Which structure is younger (A) or (B)? C(B) 51 (A) @i Legal 315

43 - Answer one of the following (A) or (B): | :@2 (<) 5i (1) ot gudt di st - ¥
Discuss: rpadl
(A) From the characteristics of ecosystem | o 8iee!! it pliaid gaibias (o) -

its mutual intricate relationships il Jalgall o SIEMMaT LS
between the environmental factors.
(B) Fennec fox has characteristics for

adaption with desert environment.

[Pl "“MQL‘M Sliat ‘LA—LLA-‘. 5 ) —
.«3.33|M‘2\.§._HS‘;33)!&&~
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44 - Write a brief notes about:

z&c;@;;\.ﬁ%:“-if

The economic importance of coastal delta | L vy 3 inslaaia ¥l dceals

deposits in Egypt.

GOPRE S WINFA]

45 - Compare between:

1o QL8 -2 0
NEIE N (RYE PN {YE

Source rocks
s jehe

Reservoir rocks
O Hg5nw
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